Pemienne kyOnueckux ypaBHEHUNA

6> — 97x% +429x — 378 = 0

C+2¢ -8 =0

X+ 1427 +45x = 0

8x° — 121x% + 486x — 405 = 0

Jara: Orenka:

40 = 176 —x+20=0

X —5¢ —24x=0

X = 12x% + 1lx+ 168 = 0

X + 3¢ —40x =0

1063 — 99%% + 161x— 72 = 0
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Pemienne kyOnueckux ypaBHEHUNA

6> — 97x% + 429x — 378 = 0
7

xX= -,

6

9,6

C+2¢ -8 =0
x=-4,2,0

X+ 1427 +45x = 0
x=-5,-9,0

8x° — 121x% + 486x— 405 =0
9

xX= -,

8

5,9

[ara:

47 =17 —x+20=0

x:

4,1

1

X —5¢ —24x=0
x=28,-3,0

X = 12x% + 1lx+ 168 = 0
x=-3,7,8

X + 3¢ —40x =0
x=-8,5,0

106> — 99x2 + 161x— 72 = 0

9
x=—,8,1
10

www.snowmath.com

Orenka:
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